170l

) =>4 — - T ~ o= S.g’
3B X X X x| e = N O
© 8 (eNeNoRo =] AN -3 2 Q
o EN AR ®
) xX c x =2
<
X ISER=FALY - 3 © 8 -
= 3 X X X » |0 3 @ 5 =9
. ® o=~ 0o > < o2 —
S — o~/ 8 [«37) / = ] o’)_c m
= =k 2 NN W ~ ©Q < 2 <
=) o o oo O 5o : x 8 ® LA
=] =4 o a
Q. 0,40 o X X X % / =S o
o ' o =] [72] - [ ey
2 coogsle
[Va) < @) T Ol= )] <
0,35 5 S Ea:%E / ® 2
% ' - ® N~ 3 3
o s 3539 \ 3 = 6,54 o
. x
3 & e 3333 / < :
e P o / i 3
R P N Q ; g
oy Il Il 5
o ;(.: \ 9 Aq / “ |r \ [=9
£ o e n ) S g
X Il Il >
g, H > \ n
Sy o] = IR I | I )
22 {_g 5 / N [ \ =
<. — =
S 3 22 IS = / 3 I I 5
o S 3
$ S| 040 _|020(3% Y, " o | I \ T
m I = - I
— E_ = 3 a | ‘ | \ - s
o =2
i g / ” | ” = ¥
™ =2
/ [ [ \ 2 B
m
/ I | 0,80 0,47 \ = Ed
y ; 1,80 ‘ [ A 5
S,
1L in u o
/ (=) (=) (=) (=3 (=} (=3 T i [T T hif [T b e
w— + N — + N — + N — + :7 + o — ° ° o -g
/ o w = *® - = N - N F o i I i o
~ —o —] 1| o ° o —_
2 =N E S N 3 | o = I [T i =
N / > > > > > > g | II I I i b o
g ) - = E o o o o o o . - AT -
N < - QD | H—]
.8 == S / o < S vl B‘i 1,60 N * 3 o A=
S . =) ! P 0,40 oo N
. w o . HL 4
s @ / % . oln LU S i
= / S - cZ > > 3 o—l
040|020 | [5 = R S 2 25 = = i3 | i
o / = o Py 3 [ov] K " N =3 H——FE——]
< =N K = m 2 / D \ a HE—HA—=
™ © 2 © < x / + v \ 2 | HE A=
— / (=3 o — > N > 5 R | g |
> L > > S = T 3 = = : = 1Y
i / . T s SE~3 3 Rl e ®
= v vl vy AN o S = 2 L = A B B
wu Py < \, [} ’ =] m — E) i I o
/ = \ S/ 2 w© E — = A
L] > > =) . | Y = 5 s HE
~ —_ [Ya] N o o|H -
S / = S " 3 = I 77 fl |
: I 3w | y I | C—
™ + R —~ ™ bt ) [ IB o|H
o ~ = ~ RSy % | v i i TII
=~ [o'e} o _ R 70 e o
/ > S b= _ ilg il L
> > > - | L I f
= < S . . e ly
g = =4 ] i
_+c\> o— 4, v o EX 11 e aln
- s + - | ol =
< 3% E = '« = i i I
N ™ =4 = o > :ﬂ ° ° o|H
= - 1> > > > > <[ |> > | 1 Int i il il
W] ;; ‘U=_==============7_7° P P P o S o - o =2 o | 1= = T T e e ) \
= | i M < SR 5 B A R 60 By . 8 =2 :
min. 2,00 | o N - : o S I y
4+ 44— = > - — — = = — = ] - = " S K ) K .
| | e = S S 3 2 5 °
— - S =
E Er e == = g > > > A > > > > T T T T e Ta—r m.uF\ o y
} 1= A A (=]
U €U T o o o o y
v v Ny Ny 2 S =y
-3 N PN} - - < N
5 ‘ 3,63 0,80 080 080 | 080 ., 080 080 /
o \ [ I I I I I |
5 I /
\ | =N
w
Z ~__ /
—h ~
% ~ /
2 ~ - .
— o - —
~ e
\ 5
— 068 , 068 s 2,10~
8 ~ — I | | / >
2 ~ 3
r_Dl ~ / o *
—+ ~ x
™ ~— - >
—
~— /
— —
/
X - - _——— — a
R . =3
(=) . e & 3
g e s = 9,66 r:Dl
X |t E R A Do %’~
= SRR “’ E]
P R R R LN o
G e = 13,19 3
. h R = q 2
2
0,40 2 '
. EN- 3
= o o
= =%
= x.
[27]
g o E
3 ® 3
= -
o r—DJ = f_Dl
= e 5 °
D (0] [Ym} =0
< S =) D,
m - (Ym)
= o © -
— < =
o 3 =4
.
23]
/LI — )
9\\:: n\uQ"l'u\\ 97
X
s i
2
—_ w»
o “I,!"- P\ 9
D A |/
2 l,\\\\ T_W‘\"
R A\ 7 \\ \
A\
: AN .
9,66 ‘ 2 \\\ =
3O e \ : :,7 &
e X Y, 3
T'_ N ° ) r_D
Z S———) o
m 2 —= =
=4 [ee]
\_/ T —— ®
~
(=)
‘o
(=)

s 57,

°

0{
o

SJ3qunu/uoljeualio wioyjeld

0oLl

IV-56%0LW-E09 NI
M3JIS peay wooJysnuw

i

=

/)

; G/l

e ), Yy A oo
/)4

/
ﬁ; s
0
5

Jsiol wJoyyed

ZY-5'0L-6%€EL NIQ Jaysem

°

‘/,/'-\ = T

'lllllll’—'ﬁ
—1

i—

( .
g e fmm—=—
| s I W1

ISewe

09'0/08'0 Jalddeq yul

» [P

°

(xtv) 3s10f wioge|d buiuiolpe o3
sJalueq [[yul Jaquiy jo Buluajsey

isiJed yjoq 4ay4aboy mauds pue ysiof wioyierd

]
-
o)
Rl
©
-
)
m
o
3
=
S
)
a
~
)
o
=4
2. /
() ° c‘mL/
ﬁugk v L oo 7 n - Be z s TG
s \Ln ° !ﬁ_“\j’//l/% A\ T\
£ — T = S /A £ a /A /A —.
= g 3 = 5 = m— 5 o/ *
N , @ S o = ) S — 3/ \u/ We s\ A\
| . —+ m 5 2 ° =5 L\
T E\ s B 3 = e =) , o
= > 3 = =2 = e <
™ 3 = - = \} v/ oy u-nuuuuvs
7 o o = o = \© s \
! = v = I~ — o \§ yieees: W
[ - = o 3 a o w
- — o = o =]
o ~ s o 5 v >
o = P~
N, © ‘Tﬂ -9, o0 ] — ®:“. r_n,
% 25 : iz 2 2 - s
= s S =58 9 4 5 5 o =) e
~J 192 L o © = ~ = = -
A o S o - o o =] = =
[ = [ = o™ LITiE A o = _ -
< [a] ~ = o o
=< ﬁ ™ S8 = r:Dl' g N N _ ] )
® o < N WA z [ ~ o = o
o> c 4 ' om - 3 - G 5 AN @ v 2 =]
S 5 s L. = =5 = e APy S 3 CH S
m ™ ESS o P o \\e ° v I=A= g 2. = =
—. = = g = A .. 7 . r—;—\ o N
- Ne—7/7 = -
o = - P2 = = S eSS/ - - =
nw = o > 4 =) 5 S \\yZANrzE — = =)
-+ — o N o~ ™ < W rrrrri) .',',_g' . \O'\ \ S
o o o 3 o—= 5 =
= 3 & o 2 ~ [ W= ° = 2 U =
v T é = —+ ~ ° ° — = o =2}
] o =2 o N - =t
= o ® m ° o) \_UJ'IJ o
o o WIIIIIFEE— w
—+ E),.O ° o )
—+ 0 2.
2y s & /| T WZ777777AY =
) = =
o Ial 3 < s o
o x> — = 5 -
T'_ 3 O Y T WA IIIIIT — g
—+ =
Y =ial g T3 X \e = <
<o = o \e e o =
o< = = \1 T W7 77T 0
_ = 4 o 0 B 2
o * wn g = (=4
LDE - _ 2.
n o w — \ 1 D)
A % o /5 \ -
= Y o
=7 = /> \ N
A 9 2 = (2 \ { x
m m 3 NG Ela=l
T =
2 € S zz
‘oo ; = v ==
S o = °
~ -
N3 o =
- = Y}
co M =
> - -
(=3 m
- ™
(=4 (=3
,\\_, =)
N =)
0 g
=4 N
=)
o
o o = o v w N b
= o) w o wn 3o k=3 -+~ 0 O~ U3 OO o m
gz ocAox?>® ff?c_‘:cm—n@%mjjg%vuﬂo—n':.ﬂ-‘«—:'oog«—xﬂuj?
qm 2 x 0 — M i —=a c a0 *oﬂE'ﬂ(ﬂcﬂmmoc*3<mm*C a®naaun ’*"‘
mﬂ i:}mgﬂ) om—n_a-—hc_'_cm mr:mﬂ;'i:jo_o,ﬁr_pl_’__lmmwm_. _
® o O w £ 0w o I = s = = c ™ o _. v < =] o AN
2 Pt H w A3 AT = =+ =+ 09 5 m = = -+ el =] N
38 afteh Fol232gR REFIIClgel2cpTSsefas —2u)
78 225533 23238532 r2zT8 s ST oaS5000%m3mp Y VSN
=8 258<c3 23T FCBSSE5%RAecse BE2SEZILSL2S,2%a C— S —
=2 S9535Ef 03S85:gu382R w238 GF STV 255es828E =
wn = Z o — v o< - = \
oS 38,0 23252337V A%E235827F 2=32%;€2"D5'm—|_hg3' )
Z> 8 3 = =+ S o&0 conolca®xmp 099 c 3 PD 35D — © oo P R
—n_' '|'|x oUl m S T =3 n"’ﬂ)‘lo::}—]mm—'—-g 255—:—;m®°m9hm—lmg ‘\‘,‘
" S 30 B =& _,.—,-cu_lo—g.;mmmxims BoT3mren, 4% o 9 8 = Werrrre——>
= —. o = m =~ = m —+ 35 = — - o n L v I o
+02 - o 5 3 Qo - = o S w36 = Zn 3 2o 3 w A
[ D 2 w =] ] =3 ] [7 I = U o . mc -
B850 @ ep 425232 235 Z 8 FRozwis £F FzRRfso 2557 5o =
=. - o o —+ 1) 2= = = ) P o w ™ 4 —
N= O n S v [T T an i a = o -+ o a Lo = T / \
— — A - 3 v T = =- o v 2 ° ° °
R5RE = 23 Fox. % Zt257e=38f J842 Zz E154399%3%%: =2 77—
QRRL o o8 F3.%5 Sass=czeal 22y <S¢ 2Rg3°2iZzzsz z ; 4
. (7] —+ m W 2 m O - w S A |+ = | } o -+ 35 m =3 n Y < : ST :
\ﬁm&l 8-:' L 2o o 7 Q:r—b'-m g Zanl|” ,E{<g°— 33 S5 5 c g-r:DrU_'—Q-‘E:'* g% /s oy .
<. o . oS S =
Sod & A °©3 S3o23d B5°EF5EYLlS ZFCY Sse gu2SPyeTSesSy : : /A
X~ E=do)at 58 2 xS a2 L ZTXoFs,Fgormly gRg0 ‘Dg S~ Y Y S8 a3 53 ° ° °)) o f
ara b &3 = I w52 2 S Yo - T == 95 & %4273 TTETT
— -~ c =3 =] o v 2 - = w o v O 2 o m o - =) '. \
0101-033- o ~— A 2 A n = 2 N2 3 v oA |y ol=o te o o np 309 5 am «+ ) (7 L
g3 A% P=xocec =YV, T 282 53@3% T wasonwm a2 =Z35%¢Z r
- v o o Cc = w
Ro Ip =3 5L33 s =x=>235 =27 ogié ®8 2S3g3ggr558%0 oW \
— 35 = S w *+m T a ™ o = ~ m c < =+ o ‘s\\
8@ sm25 2SEm, Tgocl> 592 Eg Aeeli5SslL39F ® )
@ o) oy 3T Jwv v o ET I S B L (7] °o o 3 g 2T 18 5o 2 a5 0 T T ATTITITIY i
o @ I3 o H — 4% A m 4+ v pas e = 3 5 = Y L9 a3 2w S - =
= o ? D = e ) [0 -+ m > & Ml D =9 —+ ) s Swv 3 " = o ° o ° 5
() > 3 ! —_— N _y = SN el m - v o Y] T 4 =} o
A 2 N =) 52 Za =< 395 o a3 nw O =T S A < S zg9o B = T AW = =
oo & o 3 o o5 0P SIP A2 §_~°o"’ TS oZ>-2 22 v S 3 = (A ~ a° - < g % = Y 0
.- 32 = fal S L 250 1 S =m = —. = s 3 7 >
oo = - 2 a0 > a2 u oY = m N 23 o [« I) S6o <5 P o> N % 5 i = e g Y 1\ o o =\
8% ] o = v oY = o3 uv5=Pu0n é'cam 5 S 2w ) ™ w5 2. o 5 5 LY/ o
o 58 2§ 5SS 2ac°S3 =73 2855 oS98 £%F ZTe 592 2 3 Z5 =z Y : A 3 )
o0 S m - _—=. O = = ™ 0 a — =3 o\ — =0
~ ©o© 9 z %3 P9 x 3 v o - [l So 0 N > o [ ; o g—.- wn 48 o o = A =————A\ . — s | ™ \ f 0 Y
mm g : 5z _® El A2 73 m o T8> 3 ) © A -/ 5 WL 3 N 0
oo 3 3 5 3 < Nk P30z =3 al1FT o w8 o > = { - | S/ A\ >
> S 5 Z’v-r—bl 3 r:D, o L — 3 r_l; "’5’3 S =3 o < ™ ™ f— =0 : o E\"é' w, L —\ R \'f‘V a'a
— = = = — > e 7 /i ] 7]
a = B P 3 =008 > 9= 8y TeT4Yw T ¥ = 3 B VA We=——==t\ A\ /< oo \ AN
— c o O —+ 5 °om B 4 = =] g o = = 3 v o S § > =2 3 "_'3] Jele) \\=/0/S) ‘;Ae...g;—.._w«‘ e S I
= 238w = V=YV n Q 2 =un -+ = - - o =) o N i " e 3 /)
® CE 2 >3z 0 o %P B Sg39v 5 T 7Y SN 3\ A YV > AN\ o/ —
2% a8 » S¥®JT3 s —5 §& =35 > ® T 7 S = ¢ S\ / \ / 2 Noe—spn
™ = Q 2. Y \ N2
— O ] = — S 43 o ™ ™ - c o = S o 3 c o ™ v > o et S—I\ . /P XE
5 N & O ¢ Yata o b = 2 - ™ 23 = o R B— 17 I ~ U
i 2 Q = P = > =3 Y > Y V=) /e oy/2dy -
3 2 \ 5 - ’ ™ n 5 - wl s P [A/ i Al i | S—
& | XN | N 5 —
S e
Q 3
— v =
Q - g
—
v
= N 2
—— r_D' q
O < 1 - = [a]
=]
(n — o
- 0 “ Y
n | S : 2 2
—
— x| O o 0| R 3| S| 2| 3| w0 <|on v & w0 —7) /I < o
= A N Y
- h 3 A 4 \\Y.//A~ J x
S = — >~ [} g o
C = \ Y, - m
7)\ \ -
o )
i o = © crﬁ‘ 7 32
C RS I RN N ) N N PN PSP 1 RN ) N (N TR N 4 v |= W@um A _(‘3__!\. o
— 3 =T ~o|® U oHIN oo o | DT w s 5 ‘o
CD I S0 o|lo|oolo|lo|o|o|o|o|ojo|o|f|e|o |25 o — % %
- =5 0 -
3 3|3 v 0 e
5 > ) ) 2
— = o =
W = —. — -
Y o w > 35 = 5 =- S
o w o o
" =]
T 3 * x © %5 = 222 2 = g
5 o z| S - 2 =% = z i
—+ = 5 o =
s 2 > 3 g 3 g g 5 g 2
(=} 3 = = = [\% = NG S
3 a 2 v 2. 2 :1 2 3 = 5 ) o
3 x| %< X[ x|[x|x|x|x]|x X [x [x [x [x [x|x = D o =2 o 2. o N B
+ T a a 5 o 3 ™ s =)
o o 1. I 2 2 5 2 o = - @
U‘é"_.:: ™ - o o = - o <
oo g S @ o Z - o =
© o o o 0 o Ul
5 =2 —+ ~ ~ (=) ~ o
) —+ NS Y o
o = S = S S
3 - = T —
=)
L - o 2 iy




Parts list 022712504 GB
item no. [quantity|description image
1273388 1 set of stainless steel posts for 022712504 “
6290032 | 35 [stainless steel post cap / blue RAL 5015 ‘
1200000 11 square platform 0,80 m x 0,80 m
1200001 4 rectangular platform 0,80 m x 1,60 m %
1200002 1 rectangular platform 0,80 m x 2,40 m
1200016 1 rectangular platform 0,80 m x 1,01 m -

27.06.2019 Kaiser & Kiihne Freizeitgerate GmbH



Parts list 022712504 GB
item no. [quantity|description image
1200006 1 hexagonal platform 6 x 0,80 %
1210358 1 |bowed guardrail 0,80 m 3‘/"\

¢
1210022 5 tandem guardrail 0,80 m R
1210023 3 tandem guardrail 1,60 m ~
Ty
1210176 1 timber balustrade 0,80 m x 0,50 m
1210010 3 timber infill barrier 0,80 m x 0,60 m
27.06.2019 Kaiser & Kiihne Freizeitgerate GmbH

2/8



Parts list 022712504 GB
item no. [quantity|description image
1210198 1 timber infill barrier 0,80 m x 0,70 m
1210011 3 timber infill barrier 0,80 m x 0,80 m
1210012 1 timber balustrade 0,80 m x 1,00 m
1210087 1 timber infill barrier 0,80 m x 1,15 m
1210088 1 timber balustrade 0,80 m x 1,55 m
1210017 1 timber balustrade 0,80 m x 2,00 m

27.06.2019 Kaiser & Kiihne Freizeitgerate GmbH

3/8



Parts list 022712504 GB
item no. [quantity|description lig:
1210072 3 timber infill barrier 0,80 m x 2,40 m
1210073 1 timber infill barrier 0,80 m x 2,60 m |]|
1210074 6 timber balustrade 0,80 m x 2,80 m I]|
1210075 1 timber balustrade 1,014 m x 1,20 m M
1210076 1 timber balustrade 1,014 m x 2,40 m "]]
1210077 1 timber infill barrier 1,60 m x 0,40 m

27.06.2019 Kaiser & Kiihne Freizeitgerate GmbH

4/8



Parts list 022712504 GB
item no. [quantity|description image
1210239 1 balustrade en bois 1,60 m x 0,95 m
1210238 1 balustrade en bois 1,60 mx 1,35 m
1210079 2 balustrade en bois 2,40 m x 0,70/0,10 m m
1260128 1 megaphone for post cap attachment
1210359 1 horizontal bar/ladder rung 0,80 m '\e

LN
1210032 2 [cranked ladder rung 0,80 m e
27.06.2019 Kaiser & Kiihne Freizeitgerate GmbH

5/8



Parts list 022712504 GB
item no. [quantity|description image
1220012 2 bench seat type 1 /0,80 m / red HPL \ﬁ
1220013 1 bench seat type 3 /0,80 m /red HPL \m
1220002 1 semi-circular counter/ seat 0,80 m/red HPL Q

—
1230051 1 vertical climbing pole 2,70 m / horizontal arch
1230018 1 inclined ramp 1,60 m / platform height 1,80 m
1230055 1 stairs 0,80 m platform height 0,80 m
27.06.2019 Kaiser & Kiihne Freizeitgerate GmbH

6/8



Parts list 022712504 GB

item no. [quantity|description

1210242 1 pair of infill barriers for stairs 0,80 m

1240078 1 tower-shaped roof 72° / 6 x 0,80m / royal blue HPL

6240031 1 hood for tower roof 72° with flag receptacle

1240081 1 straight red flag/RAL 2002 incl. flag pole

1240070 1 tent roof 45° / 4 x 0,80 m / blue HPL

6240054 1 hood for tent roof 4 x 45° A N
27.06.2019 Kaiser & Kiihne Freizeitgerate GmbH

718



Parts list 022712504 GB
item no. [quantity|description image
6230129 2 pair of chains for a drawbridge
1230041 1 inclined ramp 1,60 m x 1,60 mx 0,40 m 12,5° §

041421001 1 K&K Trough-shaped attachment slide (2,00)

041447001 1 K&K Wide attachment slide (1,40)

1293747 1 fastening kit for 022712504
27.06.2019 Kaiser & Kiihne Freizeitgerate GmbH

8/8



List of screw connections

Kaiser & Kiihne Freizeitgerate Page 1 /| 3

ltem: 022712504 Order: 1293747
K&K Play structure

Location: Building Project:

74 x SFES1200001 Platform fastening to stainless steel post,
nut on the side of the platform

per SC | Total | K&K-ltem Marking

/ b 1x 74 x | 3430021 Lock nut M12 DIN985 A2
;/% 1x 74 x |2030651 Cheese head screw with pin M12 x 125

/

212 x SFES1210001 Standard bolting of attachment parts
(except platforms) to stainless steel posts

per SC | Total | K&K-ltem Marking

1x 212 x | 2030168 Cheese head screw with pin M12x140

2 x SFES1230001 Chain net or similar at stainless steel posts

per SC | Total | K&K-ltem Marking

- 1x 2x 2030246 Cheese head screw M12 x 110 with pin

@c&}é%%@u

T ee—
e

44 x SFAS1210002 Waling timber for parapet fastening to platforms

per SC | Total | K&K-ltem Marking

'\/\/ 1x 44 x 13300056 white protective screw cap - lower part, M10
1x 44 x | 3430014 Washer @ 10,5 DIN125 form B A2
A N1 @m0 1x 44 x | 3430108 washer @ 10,5 DIN 7349 A2
i J &
1x 44 x | 3430048 Lock nut M10 DIN985 A2
1x 44 x 13300057 white protective screw cap - upper part, M10
\M 1x 44 x 13400651 Mushroom head screw M10 x 95 DIN603 A2

Im Sudloh 5§ 27324 Eystrup www.kaiser-kuehne-play.com B +49 4254 9315-0 +49 4254 9315-24




Kaiser & Kiihne Freizeitgerate

List of screw connections
Page 2 / 3

ltem: 022712504 Order: 1293747
K&K Play structure
Location: Building Project:
1 x SFAS1240007 Tent roof 4 x 0,80 m with hood
per SC | Total | K&K-ltem Marking

4x 4x 3430102 Washer @ 8.4 DIN9021 A2
4 x 4 x 3400673 Dome head screw M8x20 A2 Security Torx TR40
24 x 24 x |3430011 Hexagon cap nut M10 DIN986 A2
24 x 24 x 3430014 Washer @ 10,5 DIN125 form B A2
24 x 24 x |3400138 mushroom head screw square neck M10x30 DIN 60

1 x SFAS1240012 Fastening of HPL panels with rounded edges

to steel frame of tower-shaped roof 72°

per SC | Total | K&K-ltem Marking
60 x 60 x |3430014 Washer @ 10,5 DIN125 form B A2
60 x 60 x ]3430011 Hexagon cap nut M10 DIN986 A2
6 x 6 X 3400195 Dome head security screw-M10x30-Resistorx T45 A
6 x 6x |3430086 Washer @ 10,5 DIN9021 A2
60 x 60 x |3400138 mushroom head screw square neck M10x30 DIN 60
37 x SFES1270001 Reinforcing steel for stainless steel posts
per SC | Total | K&K-ltem Marking
2x 74 x |2130000 Reinforcing steel @ 10 x 310 DIN 488

2 x SFAS1070006 Slide run-out section (up to 2,00 m) on foundation

stone bolt assembly

K&K-Item

Marking

/ per SC | Total

1070365

Set of stone bolts for slide run-out section
M12x160

— _| Spielebene 2x 4 x
Playlevel

Im Siidloh 5 27324 Eystrup www.kaiser-kuehne-play.com

& +49 4254 9315-0 +49 4254 9315-24




Kaiser & Kiihne Freizeitgerate

List of screw connections
Page 3 / 3

ltem: 022712504 Order: 1293747
K&K Play structure
Location: Building Project:
1 x SFWZ0000001 Security TORX wrench TR40
per SC | Total | K&K-ltem Marking
1x 1x 3490081 Security TORX wrench TR40
1 x SFWZ0000009 Hexagon insert socket driver 10mm 1/2"
with borehole for Pin
per SC | Total | K&K-ltem Marking
1x 1x 2030170 Hexagon insert socket driver 10 mm 1/2"
with drill hole for Pin
7 x SFWZ0000012 Lubricating metal (30g box) incl. brush
per SC | Total | K&K-ltem Marking
1x 7x 5300039 Lubricating metal box 30g
1x 7x 5200026 Brush for lubricating metal

Im Sudloh 5§

27324 Eystrup

www.kaiser-kuehne-play.com

& +49 4254 9315-0 +49 4254 9315-24




